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- FOUNDATION TIER -
P instructions on how to completa this answer sheet are given on the question paper. Please make sure you follow them carafully, 4§
Questions ONE to FIVE: Choose one answer for each of the parts 1 to 4.

QUESTION ONE 1 273 &) QUESTION TWO i
holds the bones together : : ‘ | cilia -
makes surfaces slippery : gills
secretes a fluid - | mouth
stops bones rubbing together plankton

QUESTION THREE |1 273 2 QUESTION FOUR 1 2 3 4

canine tooth 51 backwards push in the water -
incisor tooth ) c, streamlined shape
molar tooth sl vl lo tail fin
premolar tooth : zig-zag arrangement of muscles

QUESTION FIVE 1 2 3 4
lifts the toes =R

pulls the lower leg backwards
pulls the toes downwards
straightens the leg at the knee

Questions SIX and SEVEN: Choose two answers for each question. -
T o QUESTION SIX
hollow proboscis
muscles to suck up food
pointed proboscis
saliva containing a substance that stops biood clotting
stomach to digest food

QUESTION SEVEN
canine teeth

grinding teeth
incisor teeth
molar teeth
premolar leeth

Questions EIGHT to TEN: Choose one answer for each of the parts 1 to 4.

QUESTION EIGHT 'QUESTION NINE QUESTION TEN
A B C D A B C D A.- B © D
8.1 9.1 101
8.2 9.2 10.2
8.3 9.3 103

8.4 9.4 . . 10.4



vl HIGHER TIER 3

Questions ONE and TWO: Choose one answer for each of the parts 1to 4.

QUESTION ONE 12 3 4 QUESTION TWO |1 2 3 4
lifts the toes S - R | carnivore | .
pulls the lower leg backwards herbivore :
pulls the toes downwards mutualism l
straightens the leg at the knee parasite |

Questions THREE and FOUR: Choose two answers for each question.
QUESTION THREE

canine teeth e
grinding teeth
incisor teeth

| molar teeth

| premolar teeth

___QUESTION FOUR

: protein in bones makes them very hard ‘
the presence of living cells prevents brittleness

they are flexible
they can be compressed

they contain depaosits of calcium phosphate

Questions FIVE to TEN: Choose one answer for each of the parts 1 to 4.

"QUESTION FIVE
A B € D

5_1 1 ¥ f f

5.2

5.3

54

QUESTION EIGHT
A B C D
21 & y -y
8.2
8.3

8.4

QUESTION SIX
A B c D

6.1
6.2
6.3

64

" QUESTION NINE
AL B C D

9.1 ; -

9.2

9.3

9.4
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1068

7.1
7.2
7.3
74

101
(102
110.3
10.4

QUESTION SEVEN

A B C D
QUESTION TEN

A B C

D




